ermine if each is a function and st;
1) (3.6).G,7, (5,4, (1,-5),(5,3)

Is this relation a function? Yes
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Is this relation a function? Yes
Domain: E’% "’-\’ ’2 \ o CD.’_L%
Range: %'4;"{.0'.’%'. Q, l S,C’IE
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Evaluate each function.

f(x)=3x-4 gX)=-2x+9  h(x)=x*-2x-5 k(x)=-x*+12
D= 2(5)-¢ Deid= ()4 108=(B)=23)S
- IS4 -4 +9 e ﬂﬂo“g |
o lq - . R A kA ‘54:
| IS | =

DK@ = — (2) 4|2 12)h(m)=(m‘2._2n,.\,5\ 13) f(n +2) = g(nn),q
“Ip I 3 Zntu-y

11 b \ 2nt l

|

Identify the critical parts of the graph (domain, range, x-intercept, y-intércept, max/min, and vertex).
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y-intercept ( , ’3.3' )

18) y=—|x+2 I-—

Vertex ;‘ rmm

Domain: @

Range: % e ‘ .
O x-intercept(s) !QE&

- y-intercept ( i), "?7

Solve the following absolute v

19) |x+51-9=13
‘?(1’5\ 2 'ZZ

alue functions.
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Find the domain and range of each piece-wise function.
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Range:

Graph the parent function (dotted line), describe the transformation, an& apl

25)y = (x+2)* = 26) y=-2| =1+
i *_,W,_,,s T
L shifd -
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27) y=Ys| x-1| : 28) y=3x-5
X 5
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